bit := 16

Iref := 2-mA
VdvCmsb = 7.5-V
wc_percent := 11.9-%
Fdem := 176.4-KHz
DEMbits := 7

number of DAC bits (TDA1541A=16 TDA1540=14)
current DAC reference

voltage across Cmsb ( TDA1541A=7.5V TDA1540=10.5V)
worst case %

DEM frequency

number of DEM bits ( TDA1541A=7 TDA1540=10)

, 1
Bit= { [2(b1t+1)] }

Iref
Iwc = T -wc_percent

Vwec := Bit-VdvCmsb

Vwc

Zwce ;=
Iwce

odem := 2-w-Fdem

1
Cmsb ;== ———8
wdem-Zwc

Cdem0 := Cmsb

n:= 1..(DEMbits — 1)

Bit = 7.629 x 10 ° bit constant

Iwc = 595 A worst case p-p ripplea current for given %

Vwe = 5722 x 100V

Zwc = 0.962 Q2

Cmsb = 0.938 puF

Cmsb
Cdem := e
n o
—7
0.938 6-10—;
5.4-10_,
0.469 4.8 -10_7
4210,
0.235 3.6-10—; \
Cdem, 3-10—
Cdem =| 0.117 |uF 2_4.10_;
1.8-10-
0.059 12107
: —8
0.029 6-10 0 — |
0015 006121824 3 36424854 6

n

Cmsb =2 x 680 nF demFo=176.4KHz 17.3% Zwc=0.662 Q
Cmsb =2 x470 nF demFo=176.4KHz 11.9% Zwc=0.962 Q



